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Read the following instructions carefully before you begin to answer the questions. This booklet contains questions in 
English as well as in Hindi. 

iz'uksa ds mRrj nsus ls igys uhps fy[ksa vuqns'kksa dks /;kuiwoZd i< ysaA bl iqfLrdk esa iz'u vaxzsath rFkk fgUnh nksuksa esa fn;s x;s gSa 
Before you start to answer the questions you must check up this 
booklet and ensure that it contains all the pages (1-8)  and see 
that no page is missing or repeated. If you find any defect in 
this booklet, you must get it replaced immediately 

 Ikz’uksa ds mRrj nsus ls igys vki bl iqfLrdk dh tk¡p djds ns[k ysa fd blesa 
iwjs ist gSa rFkk dksbZ ist de ;k nksckjk rks ugh vk x;k gSA ;fn vki bl 
iqfLrdk esa dksbZ =qfV ik,¡ rks rRdky blds cnys nwljh iqfLrdk ys ysaA  

INSTRUCTIONS TO CANDIDATE  mEehnokjksa ds fy, vuqns’k 
 

2.  In questions set bilingually in English and Hindi in case of 
discrepancy, the English version will prevail.  

 2  vaxzsth vkSj fgUnh Hkk’kk esa rS;kj fd, x, f}Hkk’kh iz”u a esa dksbZ folaxfr gksus 

dh fLFkrh esa vaxzsth fooj.k ekU; gksxk    

3.   All questions are compulsory and carry equal marks.  3  lHkh Ikz”u vfuok;Z gSa rFkk lcds cjkcj vad gSa  
 

tk,xk  
5.  You will be supplied the answer sheet separately by the 

invigilator you must complete and code the details of Name, 
Roll Number, Ticket Number and Test form Number in the 
Answer sheet carefully. You must also put your signature and 
Left Hand thumb impression on the answer sheet will not be 
evaluated.  

 5  fujh{kd }kjk vkidks mRrj if=dk vyx ls nh tk,xhA mRrj iqfLrdk esa 

fu;ekoyh ds vuqlkj /;kuiwoZd viuk uke] jksy uEcj] fVdV uEcj vkSj VSLV 

QkeZ la[;k vo”; fy[ksaA iz”uksa ds mRrj okLro esa “kq: djus ls igys mRrj 

iqfLrdk ij fu/kkZfjr LFkku esa vki vius gLRkk{kj ,ao ck,a gkFk ds vaxwBs dk Hkh 

fu”kku Hkh vo”; yxk;saA mi;qZDr vuqns”kksa dk iwjh rjg vuqikyu fd;k tk, 

vU;Fkk vkidh mRrj iqfLrdk dks tkapk ugh tk,xk  
6.   Answersheet must be shown by completely blackening the 

corresponding circles on side-II of the answer sheet against the 
relevant question number by Black/Blue Ball point pen will 
not be awarded any mark.  

 6  mRrj if=dk esa lHkh mRrj Side II  esa iz”u la[;k ds lkeus fn, x, lEcfU/kr 

xksykdkj [kkuksa dks dsoy dkys@uhys cky ikabV isu ls iwjh rjg dkyk djds 

fn[kka,aA tks xksykdkj [kkus dkys @uhys cky ikbaV isu ls ugh Hkjs tk,axs] 

muds fy, dksbZ vad ugh fn;k tk,xk 
7.  A machine will read the coded information in the OMR 

answersheet in case the information is incomplete or different 
from the information given in the application form, such 
candidate will be awarded ‘ZERO’ mark.  

 7 vksŒ,eŒvkjŒ mRrj if=dk esa Hkjh x;h dwV lwpuk dks ,d e”khu i<sxhA;fn 

lwpuk viw.kZ gS vFkok vkosnu i= esa nh xbZ lwpuk ls fHkUu gS rks ,sls vH;Fkh 

dks “kwU; fn;k tk,xk   

8.   The answer sheet must be handed over to the invigilator before 
you leave the examination hall.  

 8  ijh{kk gkWy NksMus ls igys ijh{kkFkhZ dks mRrj if=dk fujh{kd ds gokys nsuh 

pkfg,  
 9  Åij ds vuqns”kksa esa ls fdlh ,d dk Hkh ikyu u djus ij mEehnokj ij 

foosdkuqlkj dk;Zokgh dh tk ldrh gS ;k n.M fn;k tk ldrk gS  

10. NO Rough work is to be done on the answersheet. Blank spaces 
provided at various placed in the question booklet may be used 
for rough work. 

 10 dksbZ jQ dk;Z mRrj if=dk ij ugh djuk gSA iz”u iqfLrdk esa fofHkUu LFkkuksa 

ij miYkC/k [kkyh txgksa ij jQ dk;Z fd;k tk ldrk gS 

 

bl iqfLrdk dh lhy rc rd u [kksysa tc rd dgk u tk,  
 

9.  Failure or comply with any of the above instructions will 
render a candidate liable to such action/penalty as may be 
deemed fit. 

      Part-A General Intelligence and Reasoning  –(25 Questions)
       Part B General Awareness                         –(25 Questions) 
       Part-C Quantitative Aptitude                      –(25 Questions)
        Part-D English comprehension                   –(25 Questions)
   

4.  The paper carries negative marking 0.5 marks will be deducted 
for each wrong answer.  

4  iz”ui= esa udkjkRed vadu gksxk@gj xyr mRrj ds fy, 0.5  vad dkVk 

vf/kdre vad % 200 

1 bl iqfLrdk esa dqy 100 iz”u gSa ftuesa fuEufyf[kr pkj Hkkx gS1. This booklet contains 100 questions in all comprising the 
following four parts.  

fu/kkZfjr le; % 1 ?k.Vk 15 feuV
Time Allowed : 1 hour 15 minutes 
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Part-I. 

GENERAL INTELLIGENCE AND 
REASONING 

¼lkekU; cqf)eRrk ,ao rdZ”kfDr½ 

Directions (1-4) : In each of the following questions, select the 

related letters//word/numbers from the given alternatives. 

fuEufyf[kr iz“u esa] fn, x, fodYiksa esa ls lEcfU/kr 

v{kj@“kCn@la[;k dks pqfu,A 

1.  Writer : Pen : : ? 

 ys[kd % dye %% Hkkyw % \ 

 (a) Needle : Tailor ¼lqbZ % nthZ½  

 (b) Artist : Brush ¼dykdkj % czq“k½ 

 (c) Painter : Canvas ¼isUVj % dSUol½  

 (d) Teacher : Class ¼f“k{kd % d{kk %% \½ 

2. NUMERAL : UEALRMN : : ALGEBRA : ? 

 (a) LRBAGEA  (b) BARLAGE 

 (c) LERAGBA  (d) LERABGA 

3.  17 : 60 : : 20 : ? 

 (a) 57   (b) 69 

 (c) 81  (d) 93  

4.  123 : 4 : : 726 : ? 

 (a) 23   (b) 26  

 (c) 14   (d) 12  
Directions (5-7) : In each of the following questions, find the odd 

number/letters/word from the given alternatives. 

fuEufyf[kr iz“u esa] fn, x, fodYiksa esa ls fo’ke la[;k v{kj@“kCn 

dks pqfu,A 

5.  (a) Flute ¼ckWalqjh½  (b) Violin ¼ok;fyu½ 

 (c) Guitar ¼fxVkj½  (d) Sitar ¼flrkj½ 

6.  (a) JKOP   (b) MNST  

(c) CABD  (d) OPWX  

7.  (a) 162  (b) 405 

 (c) 567  (d) 644 

Directions 8 : Arrange the following words as per order in the 

dictionary : 

fuEufyf[kr “kCnksa dks “kCnkdks“k esa fn, x, dze ds vuqlkj fy[ksaA  

8.  1. Dissident   2. Dissolve  

 3. Dissent   4. Dissolute  

 5. Dissolution  

 (a) 3, 1, 4, 5, 2   (b) 3, 2, 1, 4, 5 

 (c) 3, 1, 4, 2, 5  (d) 3, 2, 4, 5, 1 

9.  Which one-set of letters when sequentially placed at the gaps 
in the given letter series shall complete it ? 

 _cb_cab_baca_cba_ab 

 v{kjksa dk dkSu lk lewg [kkyh LFkkuksa ij dzeokj j[kus ls nh 

xbZ v{kj J`[kyk dks iwjk djsxk \ 

 (a) cabcb  (b) abccb 

 (c) bacbc  (d) bcaba 

Directions (10-11) : In each of the following questions, a series is given, 

with one/two term(s) missing. Choose the correct alternative from the 

given ones that will complete the series. 

fuEufyf[kr iz“u esa ,d vuqØe fn;k x;k gSa] ftlesa ,d@nks in 

yqIr gSaA fn, x, fodYiksa esa ls og lgh fodYi pqfu, tks vuqØe 

dks iwjk djsaA 

10. 4, 196, 16, 169, ?, 144, 64  

 (a) 21   (b) 81 

 (c) 36   (d) 32  

11. Find the wrong number in the series. 

 fuEufyf[kr J[̀kyk esa xyr la[;k Kkr dhft,A 

 6, 9, 15, 22, 51, 99 

 (a) 99  (b) 51 

 (c) 22   (d) 15  

12. In a row of girls, Kamla is 9th from the left and Veena 
is 16th from the right. If they interchange their 

positions, Kamla becomes 25th from the left. How 

many girls are there in the row ? 

 yMfd;kas dh ,d iafDr esa deyk ck;ha vksj ls 9oha gS vkSj ohuk 

nk;ha ls 16 ohaA ;fn os vius LFkkuksa dh vnyk&cnyh dj ysa] 

rks deyk ck;ha vksj ls 25oha gks tkrh gSA iafDr esa dqy fdruh 

yMfd;kWa gSa\  

 (a) 34   (b) 36  

 (c) 40   (d) 41  

13. Out of 100 families in the neighbourhood, 50 have 

radios, 75 have TVs and 25 have VCRs. Only each 10 
families have all three and each VCR owner also has a 

TV. If some families have radio only, how many have 
only TV ? 

 vMksl&iMksl ¼izfros“k½ esa 100 ifjokjksa esa ls 50 ds ikl jsfM;ksa 

gS] 75 ds ikl Vh-oh- ¼nwjn“kZu½ vkSj 25 ds ikl oh-lh-vkj- gSaaA 

dsoy 10 ifjokjksa ds ikl lHkh rhuksa phtsa gSa vkSj lHkh oh-lh-

vkj- ekfydksa ds ikl Vh-oh- Hkh gSaA ;fn dqN ifjokjksa ds ikl 

dsoy jsfM;ks gSa] rks fdruksa ds ikl dsoy Vh-oh- gSa \ 

 (a) 30   (b) 35  

 (c) 40   (d) 45  

14. At what time are the hands of clocks together between 
6 and 7 ? 

 6 vkSj 7 cts ds chp fdl le; ?kMh dh lqb;kWa ,dlkFk gksaxh 

\ 

 (a) 
8

32
11

 minutes past 6  (b) 
8

34
11

 minutes past 6  

 (c) 
8

30
11

 minutes past 6  (d) 
5

32
7

 minutes past 6  

15. In a certain office, 1/3 of the workers are women,1/2 
of the somen are married and 1/3  of the married 

women have children. If  3/4 of the men are married 
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and 2/3 of the married men have children, then what 
part of workers are without children? 

 ,d dk;Zdky esa 1/3  deZpkjh efgyk,Wa gSa] efgykvksa esa ls 1/ 2  

fookfgr gSa vkSj fookfgr efgykvksa esa ls 1/3  ds cPps gSA ;fn 

iq:’kksa esa ls 3/ 4  fookfgr gSa vkSj fookfgr iq:’kksa esa ls 3/ 4  ds 

cPps Hkh gSa] rks deZpkfj;ksa dk fdruk Hkx fcuk cPpksa ds gSa\ 

 (a) 5/18  (b) 4/9  

 (c) 11/8  (d) 17/36 

16. If a man on a moped starts from a point and rides 4 
km South, then turns left and rides 2 km to turn again 

to the right to ride 4 km more, towards which direction 
is he moving ? 

 ;fn ,d euq’; eksisM ij ,d LFkku ls nf{k.k dh vksj 4 fdeh 

lokjh djrk gS] rc ck;ha vksj eqMdj 2 fdeh lokjh djrk gS] 

fQj nk;ha vksj eqMdj vkSj 4 fdeh tkrk gS] rks og fdl fn“kk 

esa tk jgk gSa \ 

 (a) North ¼mŸkj½  (b) West ¼if“pe½ 

 (c) East ¼iwoZ½   (d) South ¼nf{k.k½ 

17. From the given alternative words, select the word 
which cannot be formed using the letters of the given 

word : 

 ‘CONCENTRATION’ 

 fuEufyf[kr fodYiksa eas ls og “kCn pqfu, tks fn, x, “kCnksa ds 

v{kjksa dk iz;ksx djds ugha cuk;k tk ldrk % 

(a) CONCERN   (b) NATION  

 (c) TRAIN   (d) CENTRE 

18. From the given alternative words, select the word 
which can be formed using the letters of the given 

word : 

 ‘DETERMINATION’ 

fuEufyf[kr fodYiksa eas ls og “kCn pqfu, tks fn, x, “kCnksa ds 

v{kjksa dk iz;ksx djds cuk;k tk ldrk % 

 (a) DECLARATION   (b) NATIONAL  

 (c) TERMINATED  (d) DEVIATION 

19. Two statements are given followed by four inferences. 
Select the alternative which is most appropriate. 

 nks dFkuksa ds vkxs pkj fu’d’kZ fn, x, gSaA lokZf/kd mi;qDr 

fodYi pqfu,A 

 Statements/dFku % 
 India is becoming industrialized. 

 Pollution is a problem associated with industrialization. 

 Hkkjr ,d vkS|ksfxd jk’Vª cu jgk gSaA 

 iznw’k.k vkS|ksxhdj.k ls lEc) leL;k gSaA 

 Inferences : 

 I. All industrial centres are polluted. 

 II. India is polluted. 

 III. Polluted nations are industrialised. 

 IV. India may become polluted. 

 fu"d’kZ %  

 1- lHkh vkS|ksfxd dsUnz iznwf’kr gSaA 

 2- Hkkjr iznwf’kr gSaA 

 3- iznwf’kr jk’Vª vkS|ksfxd gSaA 

 4- Hkkjr iznwf’kr gks ldrk gSaA 

 (a) All are appropriate ¼lHkh mi;qDr gSa½ 

 (b) None is appropriate ¼dksbZ Hkh mi;qDr ugha gSa½ 

 (c) Only IV is appropriate ¼dsoy IV mi;qDr gSa½ 

 (d) Only II is appropriate ¼dsoy II mi;qDr gSa½ 

20. Some equations have been solved on the basis of a 
certain system. Find the correct answer for the 

unsolved equation of that basis. 

 dqN lehdkj.k ,d fo“ks’k iz.kkyh ds vk/kkj ij gy fd, x, 

gSaA mlh vk/kkj ij vuqŸkfjr lehdj.k dk lgh mŸkj Kkr 

dhft,A 

 If 9 * 7 = 32, 13* 7 = 120, 17 * 9 = 208, then 19 * 11 

= ? 

 (a) 150   (b) 180  

 (c) 210   (d) 240  

21. How many rectangles are there in the given diagram ? 

 fn, x, vkjs[k esa fdrus vk;r gSa \ 

 
 (a) 4   (b) 7 

 (c) 9  (d) 18  

Directions : From the given answer figures, select the one in which 

question figure is hidden/embedded. 

nh xbZ mŸkj vkd`fr;ksa esa ls ml mŸkj vkd`fr dks pqfu, ftlesa 

iz“u vkd`fr fufgr gaS \ 

22. Question Figure : 

 
 Answer Figure : 

 

                 (a)          (b)          (c)          (d) 

Directions : A piece of paper is folded and cut as shown below in 

the question figures. From the given answer figures, indicate how it 

will appear opened. 

uhps iz’u vkd̀fr;ksa esa fn[kk, vuqlkj dkxt dks eksMdj dkVus 

rFkk [kksyus ds ckn og fdl mŸkj vkd`fr tSlk fn[kkbZ nsxk \ 

23. Question Figure : 

 
 Answer Figure : 

(a)       (b)      (c)       (d)  
Directions (24-25) : In each of the following questions, select the 

missing number from the given responses. 

SSC Test Series -21  ,l ,l lh VSLV lhfjt bDdhl 
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fuEufyf[kr iz“u esa fn, x, fodYiksa esa ls yqIr la[;k Kkr 

dhft,A 

24.  

 2      7       9 

 7      3       4 

 9      8       ? 

 126  168   216 

 (a) 8   (b) 3 

 (c) 6  (d) 36  

25.  

? 9

4 6

 
 

 (a) 6.22   (b) 5.22 

 (c) 3.14  (d) 2.66 

Part-II. 

QUANTITATIVE APTITUDE 

¼Xkf.krh; vfHk;ksX;rk½ 

26. A number on being divided by 12 and 15 seccessively 
leaves the remainders 4 and 6 respectively. Find the 

remainders when the same number is divided by 180. 

 ,d la[;k dks 12 rFkk 15 ls ckjh&ckjh ls Hkkx nsus ij dze”k% 

4 rFkk 6 “ks’k cprk gSA rc mlh la[;k dks 180 ls Hkkx fn;k 

tkrk gSa] rks “ks’k Kkr djsaA 

 (a) 46  (b) 76  

 (c) 84  (d) 18  

27. Which is largest among the following 

 fuEu esa ls dkSu lcls cMk gSa \ 

  3410, 6, 3  

 (a) 4 10   (b) 3 6   

 (c) 3   (d) None of these  

28. How many figures (digits) are required to number a 
book containing 200 pages ? 

 200 i’̀Bksa okys ,d iqLrd ds i’̀Bksa dks vafdr djus ds fy, 

fdrus vadksa dh vko”;drk gksxhA 

 (a) 200  (b) 600  

 (c) 492  (d) 372 

29. Two alloys contain silver and copper in the ratio 2 : 1 
and 4 : 1 respectively. In what ratio the two alloys 

should be added together to get a new alloy having 
silver and copper in the ratio of 3 : 1 ? 

 nks feJ/kkrqvksa esa pkWanh vkSj rkacs dk vuqikr Øe”k% 2 % 1 rFkk 

4 % 1 gSaA nksuksa feJ/kkrqvksa dks fdl vuqikr esa feyk;k tk, 

ftlls izkIr u, feJ.k esa pkWanh vkSj rkacs dk vuqikr 3 % 1 gksa 

\ 

 (a) 5 : 3  (b) 3 : 5  

 (c) 2 : 5  (d) 5 : 2 

30. Find the least number which when divided by each of 
the numbers, 3, 5, 6, 8, 10 and 12 leaves in each case 

a remainder 2 but which when divided by 13 leaves no 
remainder. 

 og NksVh ls NksVh la[;k Kkr dhft, ftls 3] 5] 6] 8] 10] 

rFkk 12 ls Hkkx nsus ij izR;sd fLFkfr esa “ks’kQy 2 cps ysfdu 

tc 13 ls Hkkx fn;k tk, rks dksbZ “ks’kQy ugha cprk gSaA 

 (a) 963  (b) 692  

 (c) 269  (d) 962  

31. A puts Rs. 550 metre in a business than B, but B has 
invested his capital for 4 months while A has invested 

his capital for 3 months. If the share of A is Rs. 45 

more than the of B out of the total profits of Rs. 235, 
then find the capital contributed by A. 

 A  fdlh O;olk; esa B ls :- 550 vf/kd yxkrk gS ysfdu 

B viuh iwWath dks 4 eghus ds fy, fuos”k djrk gSa tcfd A,3  

eghus ds fy, fuos”k djrk gsaA ;fn dqy ykHk :- 235 esa A dk 

fgLlk] B  ls :- 45 vf/kd gS] rks A dh iwWath Kkr dhft,A 

(a) Rs. 1120  (b) Rs. 550  

(c) Rs. 570  (d) Rs. 1210 

32. In a recent survey 40% house contained two or more 
people. Of those houses containing only one person, 

20% had only one male. What is the percentage of all 
house which contain exactly one female and so males ? 

 ,d gky gh ds losZ esa 40 izfr”kr ?kjksa esa nks ;k nks ls vf/kd 

yksx gSaA ftu ?kjksa esa flQZ ,d O;fDr gS muesa 20 izfr”kr ?kjksa 

esa flQZ ,d iq:’k gSA dqy ?kjksa ds fdrus izfr”kr ?kj ,sls gSa 

ftuesa flQZ ,d efgyk gS rFkk dksbZ iq:’k ugh gSA  

 (a) 48% (b) 50% (c) 45% (d) 56% 

33. Rs. 7930 is divided into three parts such that their 
amounts after 2, 3 and 4 years respectively are equal. 

If the simple interest being at the rate of 5% per 
annum. Find the difference between the greatest and 

the smallest parts of the sum ? 

 :- 7930 dks rhu Hkkxksa esa bl izdkj ckWaVk tkrk gS fd 2] 3 

rFkk o’kZ ckn mudh /ku jkf”k cjkcj gksA ;fn lk/kkj.k C;kt 

dh nj ls 5%  izfr o’kZ gSa] rks /kujkf”k ds lcls cMs rFkk 

lcls NksVs Hkkx ds chp dk varj Kkr djsaA 

 (a) Rs. 250  (b) Rs. 230  

 (c) Rs. 280  (d) Rs. 330 

34. A, is 4 times as fast as B and is therefore able to finish 
a work in 45 days less than B. Find the time in which 

they can do it together. 

 
A,B  ls 4 xquk rst gS blfy, og dksbZ dk;Z B ls 45 fnu 

de esa dj ldrk gSaA fdrus le; esa os feydj ,d lkFk bl 

dke dks iwjk dj ldrs gSaA 

 (a) 12 days   (b) 16 days  

 (c) 8 days   (d) 20 days  

35. What quarterly payment will discharge a debt of Rs.  
2280 due in two years at 16% per annum simple 

interest ? 

 fdruk =Sekfld Hkqxrku :- 2280 ds _.k dks 2 o’kksZa esa 16% 

izfr o’kZ ds lk/kkj.k C;kt dh nj ls pqdk,xkA 

 (a) Rs. 500  (b) Rs. 450  
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 (c) Rs. 550  (d) Rs. 250  

36. Two men A and B walks from P to Q, a distance of 22 

km at 5 and 6 km an hour respectively. B reaches Q, 
returns immediately and meets A at R. Find the 

distance from P to R  

 nks O;fDr A  rFkk B  dze”k% 5 rFkk 6 fdeh izfr ?kaVk dh 

pky ls P  ls Q ds fy, pyrs gSa] ftldh nwj 22 fdeh gSaA 

B,Q  igqWapdj rqjar okil vkrk gS rFkk A  ls R ij feyrk 

gsaA P  ls R ij feyrk gSaA P  ls R dh nwjh Kkr djsaA 

 (a) 16 km   (b) 18 km  

 (c) 20 km   (d) 15 km  

37.  A train leaves Delhi at 5 am and reaches Kanpur at 10 am. 
Another train leaves Kanpur at 7 an and reaches Delhi at 2 
pm. At what time do the two trains meet ? 

 ,d jsyxkMh fnYyh ls 5 iwokZgu pyrh gS rFkk 10 iwokZgu ij 

dkuiqj igqWprh gSaA nwljh jsyxkMh lqcg 7 cts dkuiqj ls 

pyrh gSaA rFkk nksigj 2 cts fnYyh igqWaprh gSaA fdl le; 

nksuksa jsyxkfM;kWa feysxhA 

 (a) 8:45 am  (b) 3:45 am  

 (c) 6:45 am  (d) 10:30 am  

38. If cot   + tan= x and sec   - cos   = y, then  

 

2 2
2 23 3(x y) (xy ) ?{0 90 }       

 (a) 4   (b) 2  

 (c) 0   (d) 1 

39. 
1 sinx 1 sinx

1 sinx 1 sinx

  

  
is equal to  

 

1 sinx 1 sinx

1 sinx 1 sinx

  

  
cjkcj gS& 

 (a) cosec x + cot x   (b) cosec x + tan x  

 (c) sec x + tan x   (d) cosec x + cot x 

40. A tower standing in a horizontal plane subtends a  
certain angle a point 160 m away from the foor of the 
tower. On advancing 100 m towards if, the tower is 

found to subtebd an angle twice as before. The height 
of the tower is  

 fdlh lery {kSfrt ij fLFkr ,d ehukj vius vk/kkj ls 160 

ehVj dh nwjh ij fLFkr ,d fcUnq ij dqN fuf”pr dks.k cukrh 

gSaA 100 ehVj dh vksj vxzflr gksus ij v cog igys ls nksxquk 

dks.k cukrh gSaA ehukj dh ÅWapkbZ gS 

 (a) 80 m  (b) 100 m  

 (c) 160 m  (d) 200 m  

41. If 
x x xx = (x x) ,  then x is equal to 

 ;fn 
x x xx (x x) ,  rks x cjkcj gSa& 

 (a) 
4

9
  (b) 

2

3
  

 (c) 
9

4
  (d) 

3

2
 

42. If 2 2x = y +z,y = z+ x and 2z = x + y,  then  find 

the value of 
1 1 1

+ +
x +1 y +1 z+1

. 

;fn 
2 2x y z,y z x     rFkk 

2z x y,   rks  

 

1 1 1

x 1 y 1 z 1
 

  
dk eku Kkr dhft,A 

 (a) – 1  (b) 1  

 (c) 2  (d) 4 

43. In a direct election between two contestants for the 
post of secretary, 4% of the total votes cast are 

declared to be illegal. One contestant secures 55% of 
the valid votes and wins with a majority of 240 votes. 

Find the total number of votes cast ? 

 lfpo ds in ds fy, nks izfr;ksfx;ksa ds chp gq, izR;{k pquko 

esa 4%  Mkys x, er voS/k ?kksf’kr dj fn;s tkrs gSA ,d 

izfr;ksxh dks oS/k erks dk 55%  er feyrk gS rFkk og 240 

erksa ls thrk tkrk gSaA dqy Mkysa x, erksa dh la[;k Kkr djsaA 

 (a) 3500   (b) 2400  

 (c) 2200   (d) 2500  

44. The marked price of a TV was Rs. 15,000. At the time 

  of sale there were successive discount of 20%, 10% 
and 10% respectively on it. Find the selling price. 

 ,d Vh oh dk vafdr ewY; :- 15]000 gSaA fczdh ds le; ml 

ij dze”k% 20%,10%  rFkk 10%  ds dzekxr cV~Vs fn;s 

tkrs gSA fodz; ewY; Kkr dhft,A 

 (a) Rs. 9,720  (b) Rs. 9,750  

 (c) Rs. 9,760  (d) Rs. 55,700 

45. In a ΔABC, D is the midpoint of BC and V is the 

midpoint of AD. BV is extended which cut AC on point 
T. Find TC if AT = 6 

 ,d ABC, esa] D, BC dk e/; fcanq gS rFkk V,AD  dk e/; 

fcUnq gSaA BV  dks c<k;k tkrk gS] tks AC  dks fcanq T  ij 

dkVrk gSaA ;fn AT 6 gSa] rks TC Kkr dhft,A 

 (a) 6   (b) 10  

 (c) 12   (d) 18  

46. AB is a diameter of a circle whose centre is O and 

chord CD is drawn in the circle such that 
1

CD =
2

 AB 

and the extended part of AC and BD meets out side the 

circle at point P, then find APB . 

 AB  ,d O  dsUnz ds òŸk dk O;kl gSA ,d pki CD bl 

izdkj [khapk tkrk gS fd 
1

CD AB
2

  rFkk AC  vkSj BD  ds 

c<s gq, Hkkx o `̀Ÿk ds ckgj P  fcUnq ij feyrs gSa] rks APB  

Kkr dhft,A 

 (a) 40   (b) 30   

 (c) 90   (d) 60  

47. The base radius and height of cone are 5 cam and 25 

cm respectively. If the cone is cut parallel to its base at 
a height of h and volume of frustrum is 110 cm3, then 

find the smallest radius of frustrum. 
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 fdlh “kadq dh vk/kkj f=T;k rFkk ÅWapkbZ 5 lseh rFkk 25 lseh 

gSaA ;fn “kadq dks mlds vk/kkj ds lekarj h  ÅWapkbZ ls dkV 

fn;k tk, rFkk fNUud dk vk;ru 110 ?ku lseh gSa] rks fNUud 

dh NksVh f=T;k Kkr dhft,A 

 (a) 3120 cm  (b) 3108 cm  . 

 (c) 3129 cm   (d) 3104 cm  

48. The height of a conical tank is 9 m. A vertical pole 4.5 
m height is placed 6 m away from its centre such that 

is touches its surface. Find the lateral surface area of 
the tank. 

 ,d “kaDokdkj Vadh dh ÅWapkbZ 9 eh gS rFkk blds dsUnz ls 6 

ehVj dh nwjh ij ,d 4-5 eh ÅWapkbZ dk dk ,d Å/okZ/kj [kEHkk 

tks bldh lrg dks Li”kZ djrk gSA Vadh dk ik”oZ i’̀Bh; 

{ks=Qy Kkr dhft,A 

 (a) 565.7 
2m   (b) 676.8 

2m   

 (c) 846.6 
2m   (d) 328 

2m  

Directions (49-50) : The bar chart given below show the 

percentage distribution of the production of various models of a 

mobile manufacturing company in 2007 and 2008. The total 

production in 2007 was 35 lakh mobile phones. Study the chart 

and answer the answer the following questions. 

uhps fn;k x;k ckj pkVZ 2007 vkSj 2008 esa ,d eksckby daiuh ds 

fuekZ.k ds fofHkUu ekWMyksa ds mRiknu dk izfr”kr forj.k n”kkZrk gSaA 

2007 esa dqy 35 yk[k eksckby Qksuksa rFkk 2008 esa 44 yk[k 

eksckby Qksuksa dk mRiknu gqvkA pkVZ dk v/;;u djds 

fuEufyf[kr iz”uksa ds mŸkj nsa& 

Percentage of six different of mobiles manufactured 

by a company over two years. 

,d dEiuh }kjk nks o’kksZa esa fufeZr 6 fofHkUu izdkj ds eksckbyksa dk 

izfr”kr gSaA 

 
49. From which models was the percentage variation in 

production from 2007 to 2008 the maximum ? 

 fdl izdkj ds eksckby ds mRiknu esa 2008 ls 2008 esa lcls 

vf/kd izfr”kr ifjorZu gqvkA 

 (a) B and C   (b) C and D  

 (c) D and E   (d) A and B 

50. If 85% of the D type mobiles produced in each year 
were sold by the company, then how many D type 

mobiles remainder unsold ? 

 ;fn dEiuh }kjk izR;sd o’kZ mRikfnr D  izdkj ds eksckby dk 

85% csp fn;k tkrk gSa] rks D  izdkj ds fdrus eksckby “ks’k 

jg x, gSa \ 

 (a) 76,500   (b) 93,500  

 (c) 1,18,500   (d) 1,22,500 

Part-III. 

GENERAL AWARENESS  

¼LkkekU; tkudkjh½ 

51. Who was the first Muslim President of Indain National 
Congress ? 

 Hkkjrh; jk"Vªh; dakxzsl ds igys eqfLye vè;{k dkSu Fks 

 (A)  Badruddin Tyabji cn:n~nhu rS;c th 

 (B) Maulana Abul Kalam Azad ekSykuk vCnqy dyke 

vktkn 

 (C)  Hassan Imam glu beke 

 (D) M.A. Ansari ,e-,- valkjh 

52. The five year plan that gave priority to heavy industry 
was: 

 Hkkjh mn~;ksx dks izkFkfedrk nsus okyh iapo"khZ; ;kstuk Fkh 

 (A) Second   (B) First  

 (C) Seventh   (D) Fourth 

53. Who built the Khajuraho temples ? 

 [ktqjkgks eafnj dk fuekZ.k fdlus djkok;k \ 

 (A) Holkars  (B) Scindias  

 (C) Bundela Rajputs (D) Chandela Rajputs 

54. Who designed the St. Peter’s Square ? 

 lsaV ihVlZ LDok;j dk izk:i fdlus rS;kj fd; 

 (A) Leonardo da Vinci  (B) Michelangelo 

 (C) Bernini  (D) Borromini 

55. When milk is churned, the cream separates from it due 
to: 

tc nw/k eFkk tkrk gS] eykbZ fdl dkj.k nw/k ls vyx gks 

tkrh gS 

 (A) Frictional force ?k"kZ.k cy 

 (B) Centrifugal force vidsUnzh cy 

 (C) Gravitational force xq:Rokd"kZ.k cy 

 (D) Viscous force' “;ku cy 

56. In MS-Excel, ___ provide a visual represent-ation of 
the values in a worksheet.  

MS. EXCEL esa] -------------------- odZ”khV esa eku dk n`'; izf/fuf/kRo 

djrk gS& 

 (A) Charts pkV~lZ  (B) Formulae QkewZyk 

 (C) Templates VsEiysV (D) Views O;qt 

57. Sellers market denotes a situation where–  

 foØsrk cktkj ,slh fLFkfr dks n'kkZrk gS] tgk¡ 

 (A) commodities are available at competitive rates 

  oLrq,s izfrLi/khZ njksa ij miyC/k gSA 

 (B) demand exceeds supply 

 ek¡x vkiwfrZ ls vf/d gks tkrh gSA 

 (C) supply exceeds demand 
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  vkiwfrZ ek¡x ls vf/kd gks tkrh gSA 

 (D) supply and demand are evenly balanced 

  vkiwfrZ vkSj ek¡x leku :i ls larqfyr gksA 

58. The President’s Rule is imposed on a State in India, 
when 

 Hkkjr esa fdlh jkT; ij jk"Vªifr 'kklu rc ykxq fd;k tkrk 

gS] tc 

 (A) The State Cabinet of Ministers resigns jkT; dSfcuV 

ds ea=khx.k bLrhQk ns nsaA 

 (B) The Governor of the State dies jkT; ds jkT;iky dh 

e`R;q gks tk, 

 (C) The elections are announced pquko dh ?kks"k.kk gks tk, 

 (D) There is a Constitutional breakdown laoS/kfud 

foQyrk gksA 

59. In ‘annular’ pattern, rivers flow  

 dqaMykdkj* :i esa unh cgrh gS 

 (A) from West to East if'pe ls iwjc dh rjQ

 (B) from North to South ls nf{k.k dh rjiQ 

 (C) like a ring,d vaxwBh@pØ dh rjg 

 (D) in transverse direction vuqizLFk fn'kk esa 

60. In which year were the States recognized on a lingustic 
basis ? 

 fdl o"kZ jkT;ksa dks Hkk"kk ds vk/kkj ij ekU;rk feyh 

 (A) 1951   (B) 1947  

 (C) 1950   (D) 1956 

61. The World Trade Organisation was also known as 

 fo'o O;kikj laxBu dks vkSj fdl uke ls tkuk tkrk gSA 

 (A) GATT   (B) UNICEF  

 (C) UNCTAD   (D) FAO 

62. AGMARK is 

 (A) a cooperative for egg production 

 (B) regulated agricultural market 

 (C) farmers cooperative 

 (D) a quality guarantee stamp for commodities 

63. When was the First General Election to the Lok Sabha 
held ? 

 yksd lHkk ds igys vke pquko dc gq, Fks 

 (A) 1950-51   (B) 1951-52  

 (C) 1952-53   (D) 1956-57 

64. Aids is a/an 

 (A) Bacterial disease thok.kq jksx gS 

 (B) Viral disease fo"kk.kqtfur jksx gS  

 (C) Fungal disease dod jksx gS 

(D) Algal disease'kSoky jksx gS 

65. Cellulose is the chief constituent of 

 ^lsY;qykst* fdldk izeq[k ?kVd gS 

 (A)  Cell-wall dksf"kdk fHkfRr  

 (B)  Cell-membrane dksf"kdk f>Yyh 

 (C) Secondary Wall of Xylemtkbye ds ekè;fed fHkfRr 

 (D)  Body Wall of Insects dhM+ksa dh 'kkjhfjd fHkfRr 

66. Chemically 'Quick Silver' is known as

 jlk;fud :i ls ^Dohd flYoj* dks D;k dgk tkrk gS 

 (A) Mercury   (B) Silver 

 (C) Gold   (D) Copper 

67. The study of Drugs and their action is known as 

 (A) Pharmacy QkesZlh 

(B) Paleozoology iSfy;kstqyksth  

 (C) Pharmacology QkEkkZdksyksth  

 (D) Paleontology iSfy;ksUVksyksth 

68. Indian Penal Code came into operations in Hkkjr n.M 
lafgrk dks fØ;kfUor dc fd;k x;k 

 (A) 1858   (B) 1860  

 (C) 1859   (D) 1862 

69. Which one of the following has weakest intermolecular 
force ?

fuEufyf[kr es als fdldk lcls detksj vk.kfod cy gS 

 (A) H2   (B) HNO3  

 (C) NH3   (D) H2O 

70. The word 'Jump Ball is associated with 

 'kCn ^tEi ckWy* fdlls tqM+k gS 

 (A) Baseball   (B) Netball  

 (C) Basketball   (D) Softball 

71. Sun's heat reaches us by/ lw;Z dh xehZ ge rd fdl ekè;e 

ls igq¡prh gS 

 (A) Conduction   (B) Convection  

 (C) Radiation   (D) Reflection 

72. Terrace farming is done 

 lh<+hnkj [ksrh dgk¡ dh tkrh gS 

 (A)  on the slope of the hills. igkfM+;ksa dh <+yku ij 

 (B)  in dry regions. 'kq"d {ks=ksa esa 

 (C)  on the top of the roof. Nr ds 'kh"kZ ij 

 (D)  on mountain tops. ioZrksa ds 'kh"kZ ij 

73. The Author of the Book Titled "The Future of India" is 
"The future of India" uked iLqrd ds ys[kd dkSu gSa 

 (A) Bimal Jalan   (B) Deepak Chopra  

 (C) Amitabh Ghosh  (D) N.K.Singh 

74. The official agency responsible for estimating National 
Income in India is jk"Vªh; vk; ds vkdyu ds fy, ftEEksnkj 

ljdkjh ,taslh gS 

 (A) Indian Statistical Institute Hkkjrh; lakf[;dh laLFkku 

 (B)  Reserve Bank of India Hkkjrh; fjtoZ cSad 

 (C) Central Statistical organization dsUnzh; lakf[;dh 

laxBu 

 (D) National Council for Applied Economics and 

Research O;ogkfjd vFkZ'kkL= vkSj vuqla/ku jk"Vªh; 

ifj"kn~ 

75. Minorities Rights day in India is observed on/Hkkjr esa 

^vYila[;d vf/kdkj fnol* euk;k tkrk gS 

 (A) 23rd December  (B) 21st December  

 (C) 1st December  (D) 18th December 

Part-III. 

GENERAL AWARENESS 
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¼vaxzsth Hkk’kk½  

Direction : In Question nos. 76 to 78, some part of the sentences 

have errors and some are correct. Find out which part of a 

sentence has an error and blacken the oval [ ]  corresponding to 

the appropriate letter (A), (B), (C). If a sentence is free from error, 

blacken the oval corresponding to (D) in the Answer Sheet.  

76. Beware of a fair weather friend who is neither a friend 
in need nor a friend indeed.  

 (A) No error  

 (B) who is neither a friend in need 

 (C) nor a friend indeed  

 (D) Beware of a fair weather friend 

77. Mohan is the one who always finds fault to whatever 
Ram does. 

 (A) always finds fault 

 (B) No error 

 (C) Mohan is the one who  

 (D) to whatever Ram does 

78. So quickly she finished her work that we were 
surprised. 

 (A) We were surprised (B) No error 

 (C) so quickly she finished  (D) her work that 

Directions : In Question nos. 79-80, sentences given with blanks to 

be filled in with an appropriate word(s). Four alternatives are 

suggested for each question. Choose the correct alternative out of 

the four and indicate it by blackening the appropriate oval [ ]  in 

the Answer Sheet. 

79. The top and bottom come _______ if you pull hard 
enough. 

 (A) down (B) apart (C) across (D) up 

80. She amazed everyone by reeling _______ all the things 
she had learned. 

 (A) on (B) out (C) off (D) down 

Direction: In Question nos. 81 to 85, a sentence/ a part of the 

sentence is underlined. Below are given alternatives to the 

underlined part at (A), (B), (C) which may improve the sentence. 

Choose the correct alternative. In case no improvement is needed 

your answer is (D). Mark your answer in the Answer Sheet. 

81. A number of revolts occured in areas not down under 
British rule and against native rulers, often as a result 

of local internal politics. 

 (A) in British rule  

 (B) under British rule 

 (C) No improvement  

 (D) in under British rule 

82. They resorted of many violent acts. 

 (A) with (B) to (C) up (D) No improvement 

83. I’m anxious that nobody should become hurt. 

 (A) should be hurt  (B) should stay hurted 

 (C) No improvement (D) should become hurting 

84. Was it necessary telling my uncle ? 

 (A) telling your uncle (B) No Improvement 

 (C) to tell my uncle (D) to telling your uncle 

85.  He disagreed with Copernicus’ view that the earth went 
round the sun.  

 (A) No improvement   

 (B) view the earth went 

 (C) view the earth gonex (D) view the earth go 

Directions : In Question nos. 86 out of the four 
alternatives, choose the one which best expresses 

the meaning of the given word and mark it in the 
Answer Sheet. 

86. Brevity 

 (A) Confused  (B) Calmness  

 (C) Conciseness  (D) Heaviness 

Directions : In question nos. 87-88 choose the word 
opposite in meaning to the given word and mark it 

in the Answer Sheet. 

87.  Remonstrate 

 (A) Protest  (B) Argue  

 (C) Commend  (D) Disagree 

88. Saucy 

 (A) Humble  (B) Insolent  

 (C) Impertinent  (D) Rude 

Directions : In question nos. 89, four words are 
given in each question, out of which only one word 

is correctly spelt. Find the correctly spelt word and 
mark your answer in the Answer Sheet. 

89. (A) Population  (B) Memorandum  

 (C) Associate  (D) Comarades 

Directions : In Question nos. 90 to 92, out of the 
four alternatives, choose the one which can be 

substituted for the given words/ sentences and 
indicate it by blackening the appropriate oval [ ]  in 

the Answer Sheet. 

90. An accomplished fact : 

 (A) fore   (B) fait accompli  

 (C) ipso facto   (D) ex post facto 

91. A speech made when one is alone : 

 (A) Loquacious   (B) Soliloquy  

 (C) Extempore   (D) Monologue 

92. The industrial working class : 

 (A) Proponent   (B) Protagonist  

 (C) Partisan   (D) Proletariat 

Direction : In Question nos. 93-95, four alternative are given for 

the Idiom/Phrase underlined in the sentence. Choose the 

alternative which best expresses the meaning of the Idiom/Phrase 

and mark it in the Answer Sheet. 

93. Beat a hasty retreat - 

 (A) Beat someone harshly   

 (B) To pack things quickly 

 (C) To make a hasty withdrawal  

 (D) To make an exhaustive search 

94. Easy come, easy go - 

 (A) To earn money without effort and giving away all 

of it 

 (B)  A piece of work that is very easy to do  
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 (C) A person who keeps his cool in difficult situations 

 (D) Readily won and readily lost 

95. Pull wires- 

 (A)  to coerce someone into doing something 

 (B)  To influence or control shrewdly 

 (C)  To decide to break up with somebody 

 (D)  To win hearts 

Direction: In Question nos. 96 to 100, you have one brief passages 

with 5 questions. Read the passage carefully and choose the best 

answer to each question out of the four alternatives and mark it by 

blackening the appropriate oval [ ]  in the Answer Sheet. 

Technology is not only at the cutting edge of global 
change; it is also transforming the way man thinks, works, 

lives, loves and fights. It is the basis of his superiority and 
conquest of other species and of the havoc he is heaping 

on nature. Science based technology is the cause of much 

of man’s material prosperity, longevity and conquest of 
age-old scourges. Technological exclusion is a contributing 

factor of mass poverty and social injustice. The majority of 
mankind continues to be marginalised, socially and 

technologically. It is also the fulcrum of ‘western civilisation 

and the pivot of western domination. Talk is profuse about 
information economies and knowledge societies. But the 

potential beneficiaries are those who are already rich and 
powerful. Thus far man harnessed – for good or bad – 

technology. Will technology turn man into tomorrow’s 

horse? Technology is now driven largely by its own 
dynamic momentum, loosening man’s control and 

unleashing unknown forces. It is inculcating in man’s mind 
a culture of dependency, eroding his cognitive and 

deductive powers. Over-Dependence on technology may 
result in an atrophy of human intellect. Man may be an 

incidental beneficiary or unintended victim but he is now 

marginal to the march of technology. He may occasionally 
exult over his achievements or periodically face the wrath 

of technology running amok or of misuse by the human 
mind.Artificial intelligence may create a thinking robot, a 

synthetic human brain may be created and cloning may 

create human duplicates. What are moral and ethical 
implications? Even more, what kind of human persona will 

emerge? What kind of civilization will that be? Toynbee 
warned that the spiritual advancement of man would be in 

inverse proportion to his technological mastery. A nuclear 
Armageddon, either through computer malfunctioning, 

terrorism or a desperate act of a cornered ruler is a real 

possibility. That it has not happened so far is sheer 
happenstance and good luck. Will technology-rather man’s 

arrogant misuse – prove to be the catalyst of man’s 
ultimate destruction? Will man ‘playing God’ turn out to be 

Sisupala’s last insult that preceded his beheading by God? 

Is this the Divine long rope designed to hang him?  

96. What, according to the passage, is technology doing? 

 (A) unleashing unknown forces and transforming the 
way man fights 

 (B)  making man rich and powerful 

 (C)  making man culturally dependent 

 (D) provoking man to use technology for destruction of 
mankind 

97. According to the passage, what may result in decline of 
human intellect? 

 (A)  Man’s exultation over his achievements 

 (B)  Misuse of technology by the human mind 

 (C)  Over-dependence on technology 

 (D)  Under-dependence on technology 

98.  According to the passage, what did Toynbee warn ? 

 (A)  that technology based on science will cause much 
harm to man’s material prosperity 

 (B)  that technology will turn man into tomorrow’s 
horse 

 (C) that technology will prove to be the catalyst of 

man’s destruction 

 (D) that the more the man would go on mastering 
technology, the lesser he would be developing 

himself spiritually 

99. What, according to the passage, is a factor contributing 
to mass poverty and social injustice? 

 (A)  more civilized Western countries  

 (B)  keeping technology from reaching the masses 

 (C) the already rich being the beneficiaries of 
technological advancements 

 (D)  the unintentional victimization of man by 
technology 

100.Based on the passage, what might be the possible 
reason why the writer thinks man is heaping havoc on 
nature ? 

 (A)  Because the writer thinks that man has caused and 
is still causing irreversible damage to nature by 
pursuing his greed for technological advancements 

 (B) Because the writer thinks that West is dominating 
technological advancements. 

 (C) Because the writer is afraid that man is misusing 
technology and that in turn is leaving mankined 
economically and socially marginalised 

 (D) None of these 
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